



































Name: 5-a-day Higher Plus

13th July
) - S
Simplify -
z(z-1){1r) -
x’—x )
x+2 x2-5x-14
( 2+t) (2-%)
5
LY Va
Express | — ) in the form —
V& b
Given that Z)[L:jf/
2 -
X2:(x+6)=1:2 Byh-z=f 2@
. : % 3 / =2 s gy
Find the possible values of x ( )
Frequency Density Miss Kelly wants to draw a pie chart to
25 represent the grades obtained by the
students.
g If a student scored 350 marks or higher,
they obtained a grade 9.
1.5
What size should the angle of the sector
1 for grade 9 be in her pie chart?
0.5
I——-.—l Sv
O Y | vl | ti=-1 -
O 100 200 300 400 500
Marks

© Corbettmaths 2021 www.corbettmaths.com



Name: 5-a-day Higher Plus
14th July *
4’ 2 ’ CorbettmOiths
-5~ g
Y 7
i
i U g = 41 3 ~-qQo 77T
Find i 2 f"[-fo)’ —¢
“Zs Ty 7
1 4.5
£y 4 YM\ Lf
&
Speed The graph shows the speed of a
(m/s) bicycle between two houses.
Calculate the distance between the
- houses.
-
12
y Write down the equation of the circle

Here is a circle, centre O, and the
tangent to the circle at the point (6, 8).

(}H'?lw’jaf O/] < 2
3("7/&/ o[ 1%44‘(7&4} A = %

y 3

Z

15

Ay 0y
¥ J

Find the equation of the tangent at the
point P. 7 & e

(A
g = ,% s
25 | IS

Work out
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Name: 5-a-day Higher Plus
20th July ‘P
Convert the following recurring /3 Corbettmaiths
decimal to a fraction A - /‘1

N N 1
9% = 53
23
OC=8a (A * -Fa + b
= a
O_I)4=4b Cm * ~ba + 24
AB=2b
_)
OL = 6a

B 24 A

M is the midpoint of AC

Work out the vector N
= -
LM =< LC ¢+ em
= Rl y (~gutth)

s -ls + U

Show that L, M and B lie on a straight
line.

AT 4eath 4 1h < Gut4)
/;1_2'7 = 'Z,L;;Y) 5 {)Mﬂ’l/é/

%) 60\/X V&(/ﬂars ﬂM *Aldlﬁi- /ﬂ/
they te  2g-frar -

Express as a single fraction

b a—1 ptb _ 4o

a b+l Hlr) b
b th-atse
a(br1)

Write down the coordinates of the
minimum point on the curve

y=x2—-6x-20

(3/;17]

(Z 3)-1 2 g0
(a=3)" = 24
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27th July Higher Plus 5-a-day

The square of w is 6

Write down the value of w>

o

Corbettmatths

X
2¢/3 cm Ji

Find x

2 s (2R)" ()"
y

o

Scott has drawn y = x> — 4x — 8 and
y=3x+6

Find the quadratic equation whose
solutions are the x-coordinates of the
points of intersection of y = 3x + 6
andy = x> — 4x — 8

AT <L -% 23t

x - 2 -lezo

Solve
11 5
+ =1
x—-Dx+4) x-—1
ot S{A+y)

(21 )(xt4) ”’m) >

Sersl = (x-1 ) nty)
Sx+3) = 2T +34 4
0> ) A )l ~-33

(22 )(2+5) <

A7 o A

A triangle has side lengths of 9cm,
10cm and 5cm.

Find the size of the largest angle.
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